HENEREREHES
SHMe6FE1H29H (H)

Mt

€:E3::) (BT : kg )
SRR ==Y H 2 5 1B Z B fm &
HE 238 R X 48.9 20
N> 556.6 409 35
<t/ 633.0 289 40
JU 244.8 400 40
E=X 2,686.7 1,400 300
AAIH LA 180.8 1,169 100
JUH LA 217.8 1,150 30
LEHLA 1,179.0 640 40
LA 80.5 489 70
XA HLA 800.4 1,100 250
=FHLA 142.8 398 40
<AOLA 81.3 745 150
JA5S 759.0 498 35
2T D55 703.6 189 30
2O0F 1,171.8 269 40
VAAXILY 143.7 740 400
<7rd 115.3 959 300
Nkt 146.2 1,696 35
FA A 52.2 369 30
TIAITAF A 92.4 390 40
F+77>39 1,964.0 1,133 311
HFHS 1,092.6 60 40
INGHEE 13,093.4




6:550) (81 @ kg )
pHE i miEH o2 = B Z B " =

SE 238 22 2,455.8 454 40
SELL ) 24.6 409 189
S 45.7 569 40
FAIA 653.5 55 20
HA=EA 356.5 50 20
JESHAN 56.7 130 33
HF A 87.5 o8 30
R 237.7 1,400 29
T hSA 149.5 519 40
IXFHT 35.2 690 40
TYURSERF 64.1 401 151
254 hRF/ A 222.8 609 333
ZILAA T3 43.5 1,039 100
ZILAA 1278 20.0 7,579 5,039 [Ga o
UL 1,988.2 1,400 50
U 1% 390.0 7,400 3,100 |52 7
> ROA7) 50.6 346 279
TYNUAA 80.1 1,200 50
<53 86.9 790 111
=5 & 47.0 689 439
TFES ] 1,302.9 669 40
HFFT 427.8 789 300

T2

8,826.6




€:E3::) (BT : kg )
SRR migE ® 2 5 1B Z B fm &
BEXRHE 64 |\ 42.5 549 89
B X 79.2 2,039 239
RAAIH LA 301.7 1,300 400
LZHLA 109.0 500 150
XA LA 218.6 680 100
Nt 58.8 899 339
F+77>39 25.3 1,039 479
HFHS 138.1 159 20
>0OX/)VUlL 145.4 1,950 400
AP 33.4 2,366 1,400
AXF 41.7 625 100
NS0 28.2 3,939 800
JdEHAN 80.3 150 89
SFIA 31.4 3,277 1,120
TRIRD 57.1 1,369 389
JdF 32.5 1,119 710
Y= 178.5 4,440 609
fiInERME 102 AHITSSITA 452.8 4,200 2,221
BTl 6% Ry FHA 1,676.4 640 280
NC 24& = Av i o) 30.8 446 240
EXTYRS 126.0 239 100
INGHEE 3,887.7




(B : kg)

§:53=2)
BT EEE] fatEd = = fB Z B e &
T 24 ERVHA 23.1 380 330
DOEFE 21% (£ hTOY 1,224.7 400 250
anE 5,135.5




[(&£) (BT ¢ kg )
JRETELE =V n = = 1B Z 1B B &
K 232 E=5X 559.1 1,800 800
<73 818.1 1,500 1,000
NSO 46.9 3,300 1,000
<A 165.2 800 400
EEXRIFE 64€ |E5 X 995.2 2,500 800
A2H0LA 31.8 600 500
<AL A 130.8 550 200
I5A 24.3 1,500 400
+77>37 59.2 600 200
XXF 32.5 800 200
NSO 57.9 5,500 1,500
ERE 23E <73 58.5 1,800 1,000
NSO 410.4 9,500 2,000
#D 23 E=5X 97.2 3,300 1,300
T 24E& <A 645.4 1,200 1,000
aituE 4,132.5




